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Measurement of Earth Resistance by Kohlrausch Bridge
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Ryo=Ri+ Ry, OO0O0OR9y; = Ro+ R; OOOOR3; = R3+ Ry (51)
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R, = 5(312 — Ros + Ry) (5.2)

gogdbooobbobodooob pOgbogoooboobobb

23



MULTIPLY o

gs51:00000oo0ooo

B:0000 D:000 R: 000000 (00D)
Ry: 00000 Ry: 00000 Q.00 (@0O00)
5.3 OO

00000000000000000000000000000000000000000
00000000000 1om00000000000000000000000000000
O0000R,ORsOR,000000000000000000000000000000
0000000000000 00000000000000000000000000000
O00000000000000000000000

000000000005200000000000 ROR,OR,.OR,0000 (0520
0)000000000000000530000

400000000000000000000000

24



O Rla

oo

Rlc-, Rld

sty

g s2. 000000000

o 000000 (00DO)D DemOOODO

Rla

Ry

Ry

(@)

O

(D0000O000ODO0ODOOOO0

(hOoOOoOo(0o0)000

g s53: 0000d0oooo



54 [0O0O

0000 | R —R,0 | Ry—Ry0 | Rs— R0 0000 ] 0OOO
0000 |00 Rp(Q) | 00 Ryy(Q) |00 Ryy(Q) | Ry(Q) |00 Ry(Q)
0 0 0 0 0 0
0 0 0 0 0 0
0 0 0 0 0 0

0

O00000o0o0o0oo0o0o0ooooooooooo (0o B300)DO0OoOooOoOoOO
400gdoboobooobobgbboobbbu bbb oooobobooog

5.5 0O

l.gbobobobbobooooobon

2.0000boouoooboboboogd

5.6 [0

1.gbbboodd iombpogooboogobobobbooobon

2.00doobuooobuoooobobobobbboboooboboobbbbbboogn

gboooggno

26






